EEREHBER

KSR Kk O |’ K
kB SM54%5H 23 H
=e 2 o= oz BiZ(E | REHR| Bl e = % BiZ{E | RERR| RHE
(mg/L)| (meg/L)| $E1R1E| &S (mg/L)|  (mg/L)| $E4E(E
1 [1,3->4on7aRy (D-D) 0.05 <0.0005| 0.00 60 |FAIFR—bRAFIL 0.3 <0.003| 0.00
2 |22-DPA(ZSHRY) 0.08 <0.0008| 0.00 61 [FARUALT 0.02 <0.0002| 0.00
3 [2,4-D (2,4-PA) 0.02 <0.0002| 0.00 62 |TIYUILR)AY 0.002 | 0.00051| 0.26
4 |EPN 0.004 | <0.00004| 0.00 63 |FJLTAHILT (MBPMC) 0.02 <0.0002| 0.00
5 [MCPA 0.005 | <0.00005| 0.00 64 |FJYBEIL 0.006 | <0.00006| 0.00
6 [7Lash 0.9 <0.009| 0.00 65 |k)&0OJL7R (DEP) 0.005 | <0.00005| 0.00
7 |[7EI2z—F 0.006 | <0.00006| 0.00 66 |FUHSY—IL 0.1 <0.001| 0.00
8 (7P 0.01 <0.0001| 0.00 67 |FUTILSYY 0.06 <0.0006| 0.00
9 [F=AkR 0.003 | <0.00003| 0.00 68 |F7O/i3K 0.03 <0.0003| 0.00
10 [73FSX 0.006 | <0.00006| 0.00 69 |/853—k 0.005 | <0.00005| 0.00
11 [7398—)L 0.03 <0.0003| 0.00 70 |EXORR 0.0009 |<0.000009| 0.00
12 [AVxHFA> 0.005 | <0.00005| 0.00 7 |E3YR=)L 0.01 0.0011| 0.1
13 [4/YTzURR 0.001 | <0.00001| 0.00 72 |[ESVXIIIY 0.004 | <0.00004| 0.00
14 [4v7OA)LT (MIPC) 0.01 <0.0001| 0.00 73 |ESVIR—MESYL—F) 0.02 <0.0002| 0.00
15 |4V FTBFAS2 (IPT) 0.3 <0.003| 0.00 74 |EVEIUFAY 0.002 | <0.00002| 0.00
16 |[4FT7zohILNJ Y 0.002 0.00004| 0.02 75 |[EVITFHAILT 0.02 <0.0002| 0.00
17 [47aA2RZR (IBP) 0.09 <0.0009| 0.00 76 |Eoxnoy 0.05 <0.0005| 0.00
18 [413/948P 0.006 | <0.00006| 0.00 77 |747B=1L 0.0005 |<0.000005| 0.00
19 (127 /07> 0.009 | <0.00009| 0.00 78 |Z7x=kOFF+> (MEP) 0.01 <0.0001| 0.00
20 [ZRTOnILT 0.03 <0.0003| 0.00 79 |2x/7HILT (BPMC) 0.03 <0.0003| 0.00
21 |Thozo7Oovs R 0.08 <0.0008| 0.00 80 |ZxULYVY 0.05 <0.0005| 0.00
22 |TVRRILITF7FY (RUYIEY) 0.01 <0.0001| 0.00 81 |Z7z>FA> (MPP) 0.006 | <0.00006| 0.00
23 |AFHoontky 0.02 <0.0002| 0.00 82 |7z hI—k(PAP) 0.007 | <0.00007| 0.00
24 |4 XU (BHER) 0.03 <0.0003| 0.00 83 |7z hSHER 0.01 <0.0001| 0.00
25 |AUHRPAEY 0.1 <0.001| 0.00 84 |7HS4/K 0.1 <0.001| 0.00
26 |hXHHRR 0.0006 |<0.000006| 0.00 85 |F4y0—IL 0.03 <0.0003| 0.00
27 |hIzvARkE—)L 0.008 | <0.00008| 0.00 86 |F743IRR 0.02 <0.0002| 0.00
28 |HiLayT 0.08 <0.0008| 0.00 87 [FFmoz>y 0.02 <0.0002| 0.00
29 |AJL/\YJL(NAC) 0.02 <0.0002| 0.00 88 |ZILTOFL 0.03 <0.0003| 0.00
30 |HILRISY 0.0003 |<0.000003| 0.00 89 |FLF3oR—IL 0.05 <0.0005| 0.00
31 |¥/9532(ACN) 0.005 | <0.00005| 0.00 90 |FaS IRy 0.09 <0.0009| 0.00
32 |F¥TEY 0.3 <0.003| 0.00 91 |FaFAHRX 0.007 | <0.00007| 0.00
33 |»=)0y 0.03 <0.0003| 0.00 92 |ZFoEarvy—iL 0.05 <0.0005| 0.00
34 |HVRY—b+ 2 <0.02| 0.00 93 |ZFAEFH=EKR 0.05 <0.0005| 0.00
35 | IR R—h 0.02 <0.0002| 0.00 94 [Far+vy—iL 0.03 <0.0003| 0.00
36 |yaA7oy” 0.02 <0.0002| 0.00 95 |JOEIFK 0.1 <0.001| 0.00
37 |#OjL=tA27z> (CNP) 0.0001 |<0.000001| 0.00 96 |R/3)L 0.02 <0.0002| 0.00
38 |7OILEYRR 0.003 | <0.00003| 0.00 97 |Rviyoy 0.1 <0.001| 0.00
39 |#AaBAA=JL(TPN) 0.05 <0.0005| 0.00 98 |RNVVETHYRAY 0.09 <0.0009| 0.00
40 |VT7FPY 0.001 | <0.00001| 0.00 99 |[RoyIzFuT 0.005 | <0.00005| 0.00
41 |27 /KRR (CYAP) 0.003 | <0.00003 0.00 | 100 [R1 %YYL 0.2 <0.002| 0.00
42 |oHA> (DCMU) 0.02 <0.0002| 000 | 101 |RUFTAAZR)> 0.3 <0.003| 0.00
43 |HaR=,)L(DBN) 0.03 <0.0003| 0.00 | 102 |RyI5HILT 0.02 <0.0002| 0.00
44 |24-0O)LRX (DDVP) 0.008 | <0.00008[ 0.00 | 103 [RL TS (RRATY) 0.01 <0.0001| 0.00
45 |HTyk 0.01 <0.0001| 000 | 104 |RoTL+E—hk 0.07 <0.0007| 0.00
46 |DRIVKRR (ZFILFAFALY) 0.004 | <0.00004| 0.00 | 105 [KXFF7EL—F 0.005 | <0.00005| 0.00
47 |OFFHILINA—FREEE 0.005 0.00006| 0.01 106 [R5 FA(T3VY) 0.7 <0.007| 0.00
48 |CFHENL 0.009 | <0.00009| 0.00 | 107 [A=3FOvF (MCPP) 0.05 <0.0005| 0.00
49 |onakyTTFIL 0.006 | <0.00006| 0.00 | 108 [Av=)L 0.03 <0.0003| 0.00
50 |2 =T (CAT) 0.003 | <0.00003| 0.00 | 109 [A%5%F L 0.2 <0.002| 0.00
51 |OARARN)Y 0.02 <0.0002| 0.00 | 110 |AFHFH+> (DMTP) 0.004 | <0.00004| 0.00
52 |UART—F 0.05 <0.0005| 000 | 111 |AFS/RbOEY 0.04 <0.0004| 0.00
53 | AR 0.03 <0.0003| 000 | 112 |ARYTSY 0.03 <0.0003| 0.00
54 |BAF7T/ 0.003 | <0.00003 0.00 | 113 |ADxzF Yk 0.02 <0.0002| 0.00
55 |4 LAY 0.8 <0.008| 000 | 114 [AZO= 0.1 <0.001| 0.00
56 | e BT A 0.01 <0.0001| 0.00 | 115 |EYR—k 0.005 | <0.00005| 0.00
57 |F7TZIL 0.1 <0.001| 0.00
58 |FO3L 0.02 <0.0002| 0.00
59 |FATHILD 0.08 <0.0008| 0.00
INET 0.03 INET 0.37
FER 0.40
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KSR Kk O & K
kB SM54%5H 23 H
=e 2 o= oz BiZ(E | REHR| Bl e = % BiZ{E | RERR| RHE
(mg/L)| (meg/L)| $E1R1E| &S (mg/L)|  (mg/L)| $E4E(E
1 [1,3->4on7aRy (D-D) 0.05 <0.0005| 0.00 60 |FAIFR—bRAFIL 0.3 <0.003| 0.00
2 |22-DPA(ZSHRY) 0.08 <0.0008| 0.00 61 [FARUALT 0.02 <0.0002| 0.00
3 [2,4-D (2,4-PA) 0.02 <0.0002| 0.00 62 |TIYUILR)AY 0.002 | <0.00002| 0.00
4 |EPN 0.004 | <0.00004| 0.00 63 |FJLTAHILT (MBPMC) 0.02 <0.0002| 0.00
5 [MCPA 0.005 | <0.00005| 0.00 64 |FJYBEIL 0.006 | <0.00006| 0.00
6 [7Lash 0.9 <0.009| 0.00 65 |k)&0OJL7R (DEP) 0.005 | <0.00005| 0.00
7 |[7EI2z—F 0.006 | <0.00006| 0.00 66 |FUHSY—IL 0.1 <0.001| 0.00
8 (7P 0.01 <0.0001| 0.00 67 |FUTILSYY 0.06 <0.0006| 0.00
9 [F=AkR 0.003 | <0.00003| 0.00 68 |F7O/i3K 0.03 <0.0003| 0.00
10 [73FSX 0.006 | <0.00006| 0.00 69 |/853—k 0.005 | <0.00005| 0.00
11 [7398—)L 0.03 <0.0003| 0.00 70 |EXORR 0.0009 |<0.000009| 0.00
12 [AVxHFA> 0.005 | <0.00005| 0.00 7 |E3YR=)L 0.01 <0.0001| 0.00
13 [4/YTzURR 0.001 | <0.00001| 0.00 72 |[ESVXIIIY 0.004 | <0.00004| 0.00
14 |4V 70Ah)LT (MIPC) 0.01 <0.0001| 0.00 73 |ESVIR—MESYL—F) 0.02 <0.0002| 0.00
15 |4V FTBFAS2 (IPT) 0.3 <0.003| 0.00 74 |EVEIUFAY 0.002 | <0.00002| 0.00
16 [4F2zoHhILNJY 0.002 | <0.00002| 0.00 75 |EUITFAHILT 0.02 <0.0002| 0.00
17 [47aA2RZR (IBP) 0.09 <0.0009| 0.00 76 |Eoxnoy 0.05 <0.0005| 0.00
18 [413/948P 0.006 | <0.00006| 0.00 77 |747B=1L 0.0005 |<0.000005| 0.00
19 |45 /07> 0.009 | <0.00009| 0.00 78 |Z7x=kOFF+> (MEP) 0.01 <0.0001| 0.00
20 [ZRTOnILT 0.03 <0.0003| 0.00 79 |2x/7HILT (BPMC) 0.03 <0.0003| 0.00
21 |Thozo7Oovs R 0.08 <0.0008| 0.00 80 |ZxULYVY 0.05 <0.0005| 0.00
22 |TVRRILITF7FY (RUYIEY) 0.01 <0.0001| 0.00 81 |Z7z>FA> (MPP) 0.006 | <0.00006| 0.00
23 |AFHoontky 0.02 <0.0002| 0.00 82 |7z hI—k(PAP) 0.007 | <0.00007| 0.00
24 |4 XU (BHER) 0.03 <0.0003| 0.00 83 |7z hSHER 0.01 <0.0001| 0.00
25 [AUHRbEEY 0.1 <0.001| 0.00 84 |7HS4/K 0.1 <0.001| 0.00
26 |hXHHRR 0.0006 |<0.000006| 0.00 85 |F4y0—IL 0.03 <0.0003| 0.00
27 |hIzvARkE—)L 0.008 | <0.00008| 0.00 86 |F743IRR 0.02 <0.0002| 0.00
28 |HiLayT 0.08 <0.0008| 0.00 87 [FFmoz>y 0.02 <0.0002| 0.00
29 |AJL/\YJL(NAC) 0.02 <0.0002| 0.00 88 |ZILTOFL 0.03 <0.0003| 0.00
30 |HILRISY 0.0003 |<0.000003| 0.00 89 |FLF3oR—IL 0.05 <0.0005| 0.00
31 |¥/9532(ACN) 0.005 | <0.00005| 0.00 90 |FaS IRy 0.09 <0.0009| 0.00
32 |F¥TEY 0.3 <0.003| 0.00 91 |FaFAHRX 0.007 | <0.00007| 0.00
33 |»=)0y 0.03 <0.0003| 0.00 92 |ZFoEarvy—iL 0.05 <0.0005| 0.00
34 |HVRY—b+ 2 <0.02| 0.00 93 |ZFAEFH=EKR 0.05 <0.0005| 0.00
35 | IR R—h 0.02 <0.0002| 0.00 94 [Far+vy—iL 0.03 <0.0003| 0.00
36 |yaA7oy” 0.02 <0.0002| 0.00 95 |JOEIFK 0.1 <0.001| 0.00
37 [#o=rEzz> (CNP) 0.0001 |<0.000001| 0.00 96 |R/3)L 0.02 <0.0002| 0.00
38 |7OILEYRR 0.003 | <0.00003| 0.00 97 |Rviyoy 0.1 <0.001| 0.00
39 |#AaBAA=JL(TPN) 0.05 <0.0005| 0.00 98 |RLVEIYIRY 0.09 <0.0009| 0.00
40 |VT7FPY 0.001 | <0.00001| 0.00 99 |[RoyIzFuT 0.005 | <0.00005| 0.00
41 |27 /KRR (CYAP) 0.003 | <0.00003 0.00 | 100 [R1 %YYL 0.2 <0.002| 0.00
42 |oHar (DCMU) 0.02 <0.0002| 000 | 101 |RUFTAAZR)> 0.3 <0.003| 0.00
43 |HaR=,)L(DBN) 0.03 <0.0003| 0.00 | 102 |RyI5HILT 0.02 <0.0002| 0.00
44 |24-0O)LRX (DDVP) 0.008 | <0.00008[ 0.00 | 103 [RL TS (RRATY) 0.01 <0.0001| 0.00
45 |HTyk 0.01 <0.0001| 000 | 104 |RoTL+E—hk 0.07 <0.0007| 0.00
46 |DRIVKRR (ZFILFAFALY) 0.004 | <0.00004| 0.00 | 105 [KXFF7EL—F 0.005 | <0.00005| 0.00
47 |CFADINA—REE 0.005 | 0.00006| 001 | 106 [wSFA>(T5VY) 0.7 <0.007| 0.00
48 [CFFHENL 0.009 | <0.00009| 0.00 | 107 [A*3FOvyT (MCPP) 0.05 <0.0005| 0.00
49 |onakyTTFIL 0.006 | <0.00006| 0.00 | 108 [Av=)L 0.03 <0.0003| 0.00
50 |2 =T (CAT) 0.003 | <0.00003| 0.00 | 109 [A%5%F L 0.2 <0.002| 0.00
51 |OARARN)Y 0.02 <0.0002| 0.00 | 110 |AF5 FF+> (DMTP) 0.004 | <0.00004| 0.00
52 |UART—F 0.05 <0.0005| 000 | 111 |AFS/RbOEY 0.04 <0.0004| 0.00
53 | AR 0.03 <0.0003| 000 | 112 |ARYTSY 0.03 <0.0003| 0.00
54 |BAF7T/ 0.003 | <0.00003 0.00 | 113 |ADxzF Yk 0.02 <0.0002| 0.00
55 |4 LAY 0.8 <0.008| 000 | 114 [AZO= 0.1 <0.001| 0.00
56 | e BT A 0.01 <0.0001| 0.00 | 115 |EYR—k 0.005 | <0.00005| 0.00
57 |F7TZIL 0.1 <0.001| 0.00
58 |FO3L 0.02 <0.0002| 0.00
59 |FATHILD 0.08 <0.0008| 0.00
INEE 0.01 INEE 0.00
FER 0.01




